
7
D

isju
n
ctio

n
s

a
g
a
in

A
ftergoing

through
the

conjunctionsbased
approach,w

e
have

decided
to

go
back

to
a

enum
eration

ofdisjunctions.
F
irstly,

w
e

enum
erate

allpossible
disjunctions

and
take

the
m

ove
vectors

based
on

this
enum

eration.
Let

k
be

the
num

ber
ofagents.

Let
n
u
m

ber(D
)

be
the

ordering
ofa

disjunction
D

.
If

P
⇒

〈〈A
〉〉 !

D

is
in

the
set

ofclauses,w
e

keep
the

edges
labelled

by
〈a

1 ,...,a
k 〉,w

here
a

i =
n
u
m

ber(D
),for

all
i∈

A
,from

s

to
s ′such

that

s
|=

P
and

s ′|=
D

and
for

all
j
%∈
A

s ′|=
∧j"∈
A

n
u
m

ber −
1(a

j ).

T
hat

is,ifa
state

s
satisfies

the
left-hand

side
ofa

step
clause

and
allthe

agents
in

the
coalition

are
voting

to
satisfy

the
disjunction

on
the

right-hand
side,

then
the

successor
should

satisfy
this

disjunction.
M

oreover,the
other

agents
should

not
vote

for
a

disjunction
w

hich
is

not
satisfied

at
the

successor.
Ifw

e
start

w
ith

a
fullgraph,w

e
rem

ove
alledges

from
s

to
s ′labelled

by
〈a

1 ,...,a
k 〉,w

here
a

i =
n
u
m

ber(D
),

for
all

i∈
A

,and
w

here
a

j
is

arbitrary,for
all

j
%∈
A

,such
that

s
|=

P
and

s ′%|=
D

and,for
all

j
%∈
A

,w
e

also
rem

ove
alledges

from
s

to
s ′such

that

s ′%|=
∧j"∈
A

n
u
m

ber −
1(a

j ).

7
.1

E
x
a
m

p
les

Suppose
w

e
are

given
the

follow
ing

set
ofclauses:

1.
tru

e
⇒

〈〈1〉〉 !
p

2.
tru

e
⇒

〈〈2〉〉 !(¬
p
∨

q)

W
e

start
by

enum
erating

allpossible
disjunctions:

disjunction
ordering

p
0

q
1

¬
p

2

¬
q

3

p
∨

q
4

p
∨
¬
q

5

¬
p
∨

q
6

¬
p
∨
¬
q

7

T
he

choices
for

each
agent

are
the

sam
e

in
every

state
(w

hich
later

w
ill

give
rise

to
d(s,a))

is,
then,

L
=

{0,1,2,3,4,5,6,7}.
T

he
m

ove
vectors

are
taken

from
L

2,as
w

e
have

tw
o

agents.
In

this
particular

exam
ple,w

e
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have
64

different
m

ove
vectors.

A
s

w
e

start
w

ith
the

fullgraph,each
edge

goes
to

every
state.

Table
2

show
s

all
the

edges
in

the
graph.

N
ow

,suppose
w

e
add

the
first

clause,that
is,

1.
tru

e
⇒

〈〈1〉〉 !
p

A
llstates

satisfy
the

left-hand
side

ofthis
clause.

T
he

ordering
ofthe

disjunction
on

the
right-hand

side
is

0.
T

herefore,w
e

have
to

look
at

the
edges

that
are

ofthe
form

(0,∗),w
here

∗
is

one
ofthe

possible
m

oves
for

agent
2.

T
he

first
condition

says
that

there
is

an
edge

of
the

form
(0,∗)

if,and
only

if,the
successor

state
satisfies

p.
T

herefore,w
e

rem
ove

the
edges

that
violate

this
condition.

T
he

result
is

show
n

in
Table

3,w
here

the
rem

oved
edges

are
show

n
in

red.
Furtherm

ore,ifagent
1

is
voting

to
satisfy

0,agent
2

should
not

vote
for

a
clause

w
hich

is
not

satisfied
in

the
successor.

T
he

rem
oved

edges
are

show
n

in
yellow

in
Table

3.

N
ow

,suppose
w

e
add

the
second

clause,that
is,

2.
tru

e
⇒

〈〈2〉〉 !(¬
p
∨

q)

A
llstates

satisfy
the

left-hand
side

ofthis
clause.

T
he

ordering
ofthe

disjunction
on

the
right-hand

side
is

6.
T

herefore,w
e

have
to

look
at

the
edges

that
are

ofthe
form

(∗,6),w
here

∗
is

one
ofthe

possible
m

oves
for

agent
1.

T
he

first
condition

says
that

there
is

an
edge

of
the

form
(∗,6)

if,
and

only
if,

the
successor

state
satisfies

(¬
p
∨

q).
T

herefore,w
e

rem
ove

the
edges

that
violate

this
condition.

T
he

result
is

show
n

in
Table

4,w
here

the
rem

oved
edges

are
show

n
in

blue.
Furtherm

ore,ifagent
2

is
voting

6
to

satisfy
(¬

p
∨

q),agent
2

should
not

vote
for

a
clause

w
hich

is
not

satisfied
in

the
successor.

T
he

rem
oved

edges
are

show
n

in
green

in
Table

4.

N
ow

,
note

that
the

resolvent
from

1
and

2
is

satisfied
by

the
m

ove
vector

(0,6).
N

ote
as

w
ell

that
w

e
can

build
a

m
odelfor

this
set

ofclauses,as
there

are
edges

labelled
by

allm
ove

vectors
in

L
2

leaving
from

each
node.

Suppose,how
ever,that

w
e

w
ant

to
add

the
follow

ing
clause:

3.
tru

e
⇒

〈〈1,2〉〉 !
q

[1,2,SR
E

S]

T
his

w
ould

rem
ove

the
edges

labelled
by

(1,1)
from

each
state

to
a

state
that

does
not

satisfy
q.

T
he

result
is

show
n

in
Table

5,w
here

the
rem

oved
edges

are
show

n
in

pink.
N

o
other

restriction
applies,as

the
other

agents
are

not
voting,that

is,the
em

pty
conjunction

is
satisfied

by
allstates.

F
inally,suppose

w
e

w
ant

to
add

the
follow

ing
clause

4.
tru

e
⇒

〈〈∅〉〉 !¬
q

then,w
e

observe
that

the
first

condition
says

that
w

illkeep
the

edges
w

here
allagents

in
the

coalition
vote

for
the

disjunction
on

the
right-hand

side
ofthis

clause.
A

s
the

coalition
is

em
pty,the

condition
applies

to
alledges.

T
herefore,any

edges
leading

to
states

that
do

not
satisfy

¬
q

are
rem

oved.
T

his
is

show
n

in
Table

6,w
here

the
rem

oved
edges

are
show

n
in

purple.

N
ote

that
there

is
no

edge
labelled

by
(0,6)

leaving
any

state.
A

llstates
are

deleted.
T

he
graph

is
em

pty.
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¬p,¬q ¬p, q p,¬q p, q

¬p,¬q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

¬p, q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

p,¬q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

p, q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

Table 2: Vector moves for P = {p, q} and Σ = {1, 2}
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¬p,¬q ¬p, q p,¬q p, q

¬p,¬q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

¬p, q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

p,¬q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

p, q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

Table 3: Vector moves for P = {p, q} and Σ = {1, 2} after adding the first clause
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¬p,¬q ¬p, q p,¬q p, q

¬p,¬q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

¬p, q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

p,¬q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

p, q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

Table 4: Vector moves for P = {p, q} and Σ = {1, 2} after adding the first and the second clauses
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¬p,¬q ¬p, q p,¬q p, q

¬p,¬q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

¬p, q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

p,¬q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

p, q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

Table 5: Vector moves for P = {p, q} and Σ = {1, 2} after adding the first and the second clauses, as well as their resolvent
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¬p,¬q ¬p, q p,¬q p, q

¬p,¬q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

¬p, q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

p,¬q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

p, q

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

(0, 0)(0, 1)(0, 2)(0, 3)(0, 4)(0, 5)(0, 6)(0, 7)

(1, 0)(1, 1)(1, 2)(1, 3)(1, 4)(1, 5)(1, 6)(1, 7)

(2, 0)(2, 1)(2, 2)(2, 3)(2, 4)(2, 5)(2, 6)(2, 7)

(3, 0)(3, 1)(3, 2)(3, 3)(3, 4)(3, 5)(3, 6)(3, 7)

(4, 0)(4, 1)(4, 2)(4, 3)(4, 4)(4, 5)(4, 6)(4, 7)

(5, 0)(5, 1)(5, 2)(5, 3)(5, 4)(5, 5)(5, 6)(5, 7)

(6, 0)(6, 1)(6, 2)(6, 3)(6, 4)(6, 5)(6, 6)(6, 7)

(7, 0)(7, 1)(7, 2)(7, 3)(7, 4)(7, 5)(7, 6)(7, 7)

Table 6: Vector moves for P = {p, q} and Σ = {1, 2} after adding clauses 1, 2, 3 and 4
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